

Print Components 2B4COMP		ltem #	Qty.	Details	
	Car	d Decks	2B4CRDDECK	1	Card deck package
		What's Missing? Bingo Cards QCB4001		3	32-card decks
		Racing Fractions Cards QCB4002		3	31-card decks
		Dozens of Eggs Cards QCB6001		3	20-card decks

Replacement components may be purchased by item number. Subassemblies (e.g., individual sets of spinners) are not available for individual sale.

Teachers Guides 2B4TG				
	Bridges in Mathematics Units 1–8			
	Bridges in Mathematics Assessment Guide			
	Bridges in Mathematics Tabbed Dividers			



Manipulatives 2B4MANIP	Item #	Qty.	Details
pan balance scale	BPP	1	
pattern blocks	РРВТ	6	sets of 250 (1,500 total)
colored tiles	T400T	1	set of 400
platform scale	SPSC	1	
geoboards and geobands	G15C	2	sets of 15 (30 total)
1-cup measuring cup	CM1	9	
1-quart measuring cup	СМОТ	6	
plastic 1-gram cubes	PCUBES	1	set of 1,000
oral syringe	OSYR	1	
adding machine tape	AMTAPE	1	roll
measuring tape (marked in inches and cm)	MTC	10	sets of 3 (30 total)
money value pieces	MONVP8	2	package of 8 sets
base ten area pieces	PGT10	3	packages of 10 sets
base ten linear pieces	BPLT30	1	30 packages of linear strips & units
plastic coins	CPL	4	sets of 94 (376 total)
magnetic hooks	MAGHK	1	package of 2 hooks
game markers	M300	2	sets of 300 (600 total)
red linear pieces	LUR10	3	packages of 10 sets (900 total)

Literature (in 2B4MANIP)		ltem #	Qty.	Details
	Sir Cumference and the Great Knight of Angleland book	SCGK	1	
	Hottest, Coldest, Highest, Deepest book	HCHD	1	
	Remainder of One book	AROO	1	
	Kids Discover: Simple Machines booklet	KDSM	1	



## NUMBER<br/>CORNERGRADE 42NC4-1Package Contents

Print Components 2NC4COMP	Item # Qt	Qty.	Details
Card Decks	2NC4CRDDECK	1	package of card decks
Number Cards QCM6001	L	15	48-card decks (4 each of 12 per deck)
Display Cards	2NC4CRDSET	1	package of display cards
Day & Year Cards QCN6102		1	set of 16 cards
Month Cards QCN6103			set of 12 cards
Work Mats	2NC4MAT	1	package of mats
Number Line Segments QCN4301	÷	1	set of 11 markable segments
Calendar Markers	2NC4CM	1	package of calendar markers
September QCN4101		1	31 markers
October QCN4102		1	31 markers
November QCN4103		1	31 markers
December QCN4104		1	31 markers
January QCN4105		1	31 markers
February QCN4106		1	31 markers
March QCN4107		1	31 markers
April QCN4108		1	31 markers
May QCN4109		1	31 markers
Word Resource Cards	WRC35	1	box of vocabulary cards

Replacement components may be purchased by item number. Subassemblies (e.g., individual sets of spinners) are not available for individual sale.

Теа	Teachers Guides 2NC4TG			
	Number Corner Volumes 1–3			
	Number Corner Assessment Guide packet			
	Number Corner Tabbed Dividers			



## **GRADE 4** 2NC4-2 Package Contents

Manipulatives 2NC4MANIP	ltem #	Qty.	Details
Calendar Grid pocket chart	LCGPC	1	
colored tiles	T400T	2	sets of 400 (800 total)
pattern blocks	PPBT	2	sets of 250 (500 total)
180° protractor	PRO18016	2	sets of 16 (32 total)
1-cup measuring cup	CM1	1	
1-quart measuring cup	СМОТ	4	
plastic coins	CPL	2	sets of 94 (188 total)
360° protractor	PRO	1	
spinner overlays	SPOH15	1	set of 15 spinner overlays
spinner overlay	SPOHS	1	single spinner overlay
<ul> <li>numbered dice collection</li> <li>dice numbered 1–6 (qty 2 per set)</li> <li>dice numbered 4–9 (qty 2 per set)</li> <li>die numbered 0–5 (qty 1 per set)</li> <li>more/less die (qty 1 per set)</li> </ul>	D45NUM15	1	package of 15 sets (6 dice per set)